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[C] 2.4 - 0.03 M CaSOu(F2fi4%)Fc0.01 M NaCI(# f 4\ )R &35 » AT 5 R 5 @@ ?
(A) 0.01 M (B) 0.02 M (C)0.13 M (D) 0.24 M
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(A) 1 mg/L (B) 10 mg/L (C) 20 mg/L (D) 30 mg/L
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[C] 7. % F# e (CH3COOH)5pKa = 4.745% » 3# £.0.02 M ik 44 (CHsCOONa)% i 2. pH & 0 ?
(A) 4.81 (B) 5.46 (C) 8.52 (D) 9.48
[D] 8.7 7]im ¥ 2L/ s B - Mok (PMas)ehi & &k ?
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[B] 12. % - 33 HAB % > 4=k & 501 M > 2 j2ig R ¥3.7 % FKF 2KE 5 P 2
(A)1.4x107 (B)1.4x10* (C)3.7x1073 (D)3.7x10*
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(A) 100 (B) 120 (C) 150 (D) 200
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(A) 750 °C (B) 850 °C (C)950°C (D) 1,050 °C
[C]32. 4 WiRAMEFREMH)ZFH > TP L F7

(A)Hl=Hh-6(H+ W) (B) HI=Hh - 6(H + 9W)

(C) Hl=Hh - 6(9H + W) (D)HI=Hh- (H+ W)
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[Cl34. % - B HEFIED 510kg 5218 55 kg #p R 53 2 L g2 > Wi 2 __g__ a1 kg
v 8 ATV ’{ff# ~ % A&7 C=50% > H=12% > O= 36% 1 S=2% 0 U T A AN AR
BELW?

0,

kcal/kg =81C + 342.5(H2—?) +22.58
(A) 2,106 kcal/kg (B) 2,666 kcal/kg (C) 5,331 kcal/kg (D) 6,664 kcal/kg
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(A) 2.46 % (B) 4.46 % (C) 8.46 % (D) 10.46 %
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(A)27.5 % (B) 79.6 % (C) 82.5% (D) 91.7 %
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(A) kcal/(m? ><hr) (B) (hrxkcal)/m? (C) (m3xkcal) /hr (D) m?xhrxkcal
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[B] 42. % M 2a 4 - B(W)~ 5 p R ER ()2 %A 5 H(A) > T 7P 587 % mp s 2
4.7 (G) ?
(A) G=(Wxh)/A (B) G=W/(hxA) (C) G=(WxA)/h (D) G=A/(hxW)

[C] 43. % BE#a5e eg® 2 C/N > A1 3% 5 0 7 2|87 5 B se ?

(A) 1~5 (B) 5~10 (C) 10~20 (D) 20~35
[Al44. s BME L BRAF 2 HPHFEHE > % L 3 v EFRI2Z A3 35 kHE > B35k Gk i}
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(A)101° (B)lo-5 (C)107 (D) 10!
[A]45. B3k 5 F E 24 #2421 % 3 - #FAF 0 5CHsO2 0 F% 2 %% CO2%2 HoO 0 RI4ES g

FHRAN 7 ogRF

(A) 8.66 (B) 10.66 (C) 12.66 (D) 14.66
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(A) 0.01 (B) 0.1 (C) 1.0 (D) 10
[B] 49. ;;{Lfﬁj,_,:’ﬁ,\ﬁ;’,ﬂlg\.i\_lﬁ—_,:\m_)i%]?ﬂpm /

(A) 100~200 °C (B) 250~350 °C (C) 400~600 °C (D) 800~1000 °C
[B] 50. % B At it @2 sk (CE)» R B30 5 9

(A) [CO/(CO,+C0O)]x100 % (B) [CO,/(CO,+CO)]*100 %

(C) [(CO,+CO)/CO]*100 % (D) [(CO,+C0)/CO,]x100 %
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